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BENRE 14, 238, 619 4,004  14,242,623| 41.9]  0.0| 13,825597| 44.7 417,026 3.0
A2 5, 946, 548 44 5,946,592 17.5 0.0 5,629,618  18.2 316, 974 5.6
HBhE 4,747,092 3, 960 4,751,052 14.0] 0.1 4,748,628  15.4 2,424 0. 1
NMEE 3,544,979 0 3,544,979  10.4 0.0 3,447,351  11.1 97, 628 2.8
— BT RRE 11, 203, 942 150, 116] 11,354,058 33.5 1.3 11,093,202 35.8 260, 856 2.4
W 5,510, 303 139, 803 5,650, 106|  16.7 2.5 4,986,395  16.1 663, 711 13.3
HixmsE 278, 625 0 278,625 0.8/ 0.0 253, 281 0.8 25, 344 10.0
HBNEE 5,415,014 10, 313 5,425,327 16.0/ 0.2 5,853,526  18.9 A 428,199 A 7.3
BENRE 5,738, 377 251, 180 5,989,557 17.7| 4.4 3,698,990 11.9 2,290, 567 61.9
T FEREy 5,738, 377 251,180 5,989,557 17.7| 4.4 3,698,990  11.9 2,290, 567 61.9
KEEIBEXE 0 0 0 0.0 0.0 0 0.0 0 0.0
FDDEE 2,339, 062 0 2,339,062 6.9 0.0 2,352, 611 7.6 A 13,549 A 0.6
BId 656, 023 0 656, 023 1.9 0.0 645, 566 2.1 10, 457 1.6
BRERUVHES 3,000 0 3,000 0.0 0.0 7, 000 0.0 A 4,000 A 57.1
g% 1,000 0 1,000 0.0 0.0 19,600 0.1 A 18,600 A 94.9
RHE 1,579, 039 0 1,579,039| 4.7 0.0 1,580,445 5.1 A 1,406 A 0.1
Flise 100, 000 0 100,000{ 0.3 0.0 100,000 0.3 0 0.0
& 5 33, 520, 000 405,300 33,925,300 100.0 1.2] 30,970,400 100.0 2,954, 900 9.5




